%*’év%”‘«,a'?%fé‘ > FE ‘F/F‘?q‘—;:é‘ >fEd P
114Edpp 2 B+ 3 RTEZ 22T Y €2
]
o 11497 37
5 Hp =
o (B¥=)
08 : 50—09 : 00 IR I 2 AR B FRL R
Bk B F BARMIZAARM ~ U T 20602 T &If
09 : 00—10 : 30 73
AP RBET 2L Yo
10 30—10 = 40 5 SR
R e
10 - 40—11 = 30
A SHd Rt
11 :30—11 40 [ S
BRI & 5 4 R
e a0=12:30 LY RBEL 2L o
12 : 30 A
LAY B SRR A LR RIREY S (RF A H)F R E (B H T
RF SRR ABE3005)

2 HRIREFR  HFREEYT  FE g AR TR RN
P A EATHIEFR 2B A LS RlA BB AT Fil v 2 Y

3. BHh

g MY T S0l o

4, iR

5. ¥ € 3F £ QRcode

’F?gﬁiﬂﬁﬁrﬁ,ﬁﬁﬁ&ﬁﬁkﬁﬁ@%%,

25

¥f

\\\ﬁr

%

4(0



